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Ans X 1. Todine

/< 3. Fluorine
\f 4. Tron

/< 2. Bromine

Q.1 Four words have been given, out of which three are alike in some manner and one is different. Select the odd one.

Question ID : 4244291256
Status : Answered
Chosen Option : 4
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Q.2 A paper is folded and cut as shown in the following figure. How will this paper look when unfolded?

Question ID : 4244291262
Status : Answered
Chosen Option : 3
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Q.3 AandB are the brothers of C. B is the son of D and E. D is the daughter of F. P is the father-in-law of E. Q is the son of
F. What is the relationship of A to P?

Ans o 1. Grandson
< 2. Son
/< 3. Daughter
/< 4 Father

Question ID : 4244291253
Status : Answered
Chosen Option: 1

Q.4  study the given pattern carefully and select the letter that can replace the question mark (?) in it.

Question ID : 4244291250

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.5 Which of the following options is NOT an example of a number triad with the following properties?
1. Sum of the digits of the third number is twice the sum of the digits of the first number.

2. Sum of the digits of the second number is thrice the sum of the digits of the first number.

Ans 1. (201, 702, 303)
X 2. (400, 660, 800)
W 3. (200, 600, 300)
X 4 (111, 207, 222)

Question ID : 4244291244
Status : Answered
Chosen Option: 3

Q.6 Select the correct equation when the signs “+* and >’ and the numbers *4° and ‘87 are interchanged.
ans X1 12x4+8=34

X2 6+8x4=38

W3 2x4+8=34

X4 4+8x2=32

Question ID : 4244291241
Status : Answered
Chosen Option : 3
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Q.7 Two different positions of the same dice are shown. Select the number that will be on the face opposite to the one
having *4°.

Question ID : 4244291258
Status : Answered
Chosen Option : 2

Malaria : Parasite : : Stomach ulcers : 7

Ans X 1. Insects
' 2 Bacteria
X 3. Parasites
& 4 Protozoa

Q.8 Select the option that is related to the third term in the same way as the second term is related to the first term.

Question ID : 4244291254
Status : Answered
Chosen Option: 2
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Q.9 Select the correct mirror image of the given figure when the mirror is placed to the right side of the figure.
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Question ID : 4244291259
Status : Answered
Chosen Option : 3

Q10 Find the number of triangles in the following figure.

Question ID : 4244291260
Status : Answered
Chosen Option : 3
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Q.11 Ina certain code language, PARK is coded as 6739, ROAD is coded as 3574, POND is coded as 6584 and LANE is
coded as 2781. How will LORD be coded as in that language?

Ans  of 1. 2534
X 2. 7432
X 3 5213
X 4 5304

Question ID : 4244291249
Status : Answered
Chosen Option : 1

Q.12 Ina certain code language. VICTORY is written as XGERQPA. How will KINDLE be written as in that language?

Ans  of 1. MIGPBNC
& 2. BEDRVH
X 3. IKLFIG
X 4 SOWNEQ

Question ID : 4244291248
Status : Answered
Chosen Option : 1

Q.13 Select the option that is related to the third number in the same way as the second number is related to the first number.

29:838::14:2
Ans X 1. 199
< 2 196
< 3195
W 4 193

Question ID : 4244291242
Status : Answered
Chosen Option : 4

Q.14 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd
letter-cluster.

Ans X-L CK
< 2 DP
v 3 ET
X 4 FX

Question ID : 4244291255
Status : Answered
Chosen Option : 1
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Q.15 Select the letter-cluster that can replace the question mark (?) in the following series.

BDF, DHL, FLR, ?
ans o 1. HPX
X 2 IQY
X 3. HPY
X 4 HOX

Question ID : 4244291252
Status : Answered
Chosen Option: 1

Q.16 Myopia® is related to ‘Eye’ in the same way as ‘Pvorrhea’ is relatedto ¢ °.
Ans 1. Lung

v 2 Gums

/< 3. Brain

/< 4 Stomach

Question ID : 4244291251
Status : Answered
Chosen Option : 1

Q.17 Study the given pattern carefully and select the number that can replace the question mark (?) in it.
4(15)1;7(22)3;2 (37 4
Ans x 1. 16
V2 11
X314
X412

Question ID : 4244291247

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q18 Tdentify the number that does NOT belong to the following series.

1.4,9,. 15, 25,36
Ans &1 4

X209

V'3 15

X 4 25

Question ID : 4244291246
Status : Answered
Chosen Option: 3
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Q19 Observe the following diagram and answer the question.

Find the number of students who play any two of the three sports.

-Hockey

Ans x1. 0
X215
v 11
X 413

Question ID : 4244291264
Status : Answered
Chosen Option: 3

Q.20 Four number triads have been given, out of which three are alike in some manner and one is different. Select the number
triad that is different from the rest.

Ans 1. (273, 546, 819)
X 2. (291, 438, 657)
W 3. (326, 654, 981)
X 4. (192, 384, 576)

Question ID : 4244291243
Status : Answered
Chosen Option : 3
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Q.21 Select the correct option in which the given figure is embedded. (Rotation is not allowed)
Ans
p P
x> |
X s
( 4,
Question ID : 4244291261
Status : Answered
Chosen Option : 4
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from the statements.
Statements:

1. Most teachers are women.
2. Some women are managers.
Conclusions:

1. Some managers are womern.

1I. Some teachers are managers.

Ans X" 1. Both conclusions I and II follow.

« 2. Only conclusion T follows.

/< 3. Neither conclusion I nor II follows.

/< 4. Only conclusion IT follows.

Q.22 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)

Question ID : 4244291257
Status : Answered
Chosen Option : 2

6, 10, 18, 34, 2
Ans ?‘:1- 68
X 2 64
V'3 66
X 470

Q.23 gelect the number that can replace the question mark (?) in the following series.

Question ID : 4244291245
Status : Answered
Chosen Option : 3

ans of 120
X218
X3 21
X 4 19

Q.24 While writing all the natural numbers from 1 to 100, how many times do we write 6?

Question ID : 4244291240
Status : Answered
Chosen Option : 4
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Q.25 Select the correct mirror image of the given figure when the mirror is placed to the right side of the figure.
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Question ID : 4244291263
Status : Answered
Chosen Option: 2
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